RUNLRUSFERZEE (A NOFH)

=114
£ BHf AD
A=t Y12

Y o+ LR ZE RS sz G-W

* AZAERSR = (BRER Y B R+ o BB A+ 28 A B P+ SRR KB R + RABBSRT (R 520 FV($E5E) [ SW(ER) | SW(T L) | SW(BAEA)
E10=(C57+C69+C86+C159) X 1.2 G-H-I 10= CZE-G-I~ |EsL(HE) 54.5 7

SERE 0.9
E12=(C57+C69+D86+D159) X 1.2  G-H-1 12= DZEF-H-J~ |8kt 61.4 7
SEIEME 1.0

B V) 451 [ 12 2E B

* ABAERERN = (FRERY) B R+ B R+ 26 A B+ SR AR 2 B R) + RANEERI (RIS K2 SW (%)
E17=(D57+D69+C100+C247) X 1.2 G-H-l 16= CHEE-G-I~ |EfH+(H) 61.0 7

S EZEH 1.0
E19=(D57+D69+D100+D247) X 1.2  G-H-1 18= DHEF:H-J~ e 51.5 7
SEIRMN 0.9

BREEERRE WRhETIEAE£DES)

* PR ARAERE RN = Huoh UIZAE RS R (B AR AR) + B (T SRV 2B R (B ) SW(ERE) | B ARk
E24=(D57+D69+C86+C159+C247) X 1.2 BisE 91.2 160.8

F:G*H 24= C#E:G-I~ SEZEH 1.5 2.7

REEERRE GRESC2af2niEs)

* B AZAERE RN = BR o UAZSE RS (B ) + B I HAZE RS Rl (B 1 ) SW(ER) |
E29=E10+E17=(C57+C69+C86+C159+D57+D69+C100+C247) x 1| Rt & 115.4 185.0 | B {31 FI HH S 1= B

F-G-H 29= E%F-G-HA~ CEE-G*I~N 2= 1.9 31 | EERRENE 1.3

FRABAEERBE EEOIEEEDES)

* NERZARAERE RN = BN LARAERS RN (BHR) + A ( SRR SERSRT (BT ) SW(EHE)

E34= (E57+E69+D86+D159+D247) X 1.2 EiE5R1E 97.9 7
F:G*H 34= DZF-H-J~ S EZEH 1.6

FRABSZIRERE GREET20EE£NES)

*  NERZARAER R = ENS UARAERS R (BHE) + HR A (AR HERS R (3 ) SW(EHE)
E39=E12+E19=(C57+C69+D86+D159+D57+D69+D100+D247) x 1] FkiEaa 1L 112.9 7
F-G-H 39= E#F-G-HA~, DZF-H-J~ S EZEH 1.9

1R=

HARHSR

HAR RUFH



